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X Bl = At :Alice was beginning to get very tired of sitting by her sister on the
bank, and of having nothing to do

& UM =X+ :Kim was beginning to get very tired of sitting by her sister on the
bank, and of having nothing to do

HAEE =85.71428571428571
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» A3 A (sequence):
2 (element)E 4
KA 2= =N JF UL
ANBAAS QASS2 HSII2WH N UL

LHE Al& A(str, bytes, bytearray, list, tuple, range)




» QlelAl(indexing), =2t0l4l(slicing), & & ™ AH(adding), 241 A &
(multiplying)
LHEE s HZIts : AIR A2 20| E Btatot= len() & ==, = gt

max() 2t min() & =+
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fruits =("apple","banana","grape")

\ result = fruits|[1]
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fruits

fruits

("apple", "banana”, "grape")

"apple”, "banana", "grape"

[e]

[11
[2]

"apple”

"banana”

"grape”
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>>> single tuple = ("apple",) # & EJF 20 AU Of StCt.
>>> gingle_tuple

("apple”,)

>>> no_tuple = ("apple") #EHIBILH &

>>> no_tuple
"apple"

Ol OfLlct +=20] =Lt

>>> fruits = ("apple", "banana", "grape")
>>> fruits[1]
banana

>>> fruits[1] = "pear” # 5 Eal
TypeError: "tuple" object does not support item assignment




>>> myList = [1, 2, 3, 4]

>>> myTuple = tuple(myList) #tuple()c == 4 4&ot= &=0|ChL
>>> myTuple
(1, 2, 3, 4)

T s
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S Usth o~
>>> myTuple = (1, 2, 3, 4)
>>> myList = list(myTuple) #list()= 2| AEE Mdot= &=+0|LC

>>> myList
[1, 2, 3, 4]
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>>> fruits = ("apple", "banwe")
>>> fruits += ("pear", "kiwi

>>> fruits
("apple", "banana

) grape ’

pear", "kiwi")

>>> numbers = [10, 20, 30]
>>> numbers += (40, 50)
>>> numbers

[10, 20, 30, 40, 50]




‘grape’
"banaba’
‘apple’
' |
_!
t=(ap
"apple’
£ o
‘banaba’
_
‘grape’
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ple', 'banaba', 'grape')
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n1=10
n2 =90 gt Ct.

n1, n2 =(n2, n1) # (90 10)

n1,n2=sub()




enumerate() Argvrﬂ

[ Ilapp'lell, "t}anal]a"’ I1grapel1 ] (@J Ilapplell}
e = (1, "banana™)
(2-’ 1Igra£}ell}

enumerate()

fruits =["apple","banana","grape"]
for index, value in enumerate(fruits):
print(index, value)

0 apple
1 banana
2 grape
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numbers = {1, 2, 3}
values = set( ) —

g=3 .}
2|34 NEZ MATHC
I =S MAB




numbers =set([1,2,3,1,2,3])
print(numbers)

{1, 2,3}

letters = set("abc")

letters | & | \
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(), any(), enumerate(), len(), max(), min(), sorted(), sum() AtZ Jt

al
=

fruits ={"apple","banana","grape"}
size =len(fruits) # size= 30| =Lt

fruits = { "apple”, "banana", "grape" }
if "apple” in fruits:

print("& & ©t0{l appleOl A LICE")

&g otoll appleOl U &SLICH.
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fruits ={"apple","banana","grape"}
for x in fruits:
print(x, end="")

grape banana apple

fruits ={"apple","banana","grape"}
for x in sorted(fruits):
print(x, end="")

apple banana grape
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For |

fruits ={"apple","banana”,
fruits.add("kiwi")

E

#A
fruits —{"apple","banana

AHIE (= remove() HIAEE AIS

grape"}

grape", "k|W|"}
H 0l 2

oo O (|2 2rAY

fruits.remove("kiwi")

LAE N

#NES B=
fruits ={"apple","banana

fruits.clear()

of= RAaJt 8leH

b

|91 Xl &2 2™ discard() APE'

PXIoted & clear() &A=& AtEstLt.

" ugrapeu "k|W|"}
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MEEZ HE - g glAE
'
result = {x for x in faList 1if@E2==0 }
Moz 22 = e AAE QU= . =z
MEZS| @ 47} HLC}, 24 x0i thohH

aList =[1,2,3,4,5,1,2]
result ={ x for x in aList if x%2==0 }
print(result)

{2, 4}
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A ={"apple","banana","grape"}
B ={"apple","banana","grape","kiwi"}

TA<B: # £ = A.issubset(B) :
print("A= B2 £& & &LICH")

A ={"apple","banana","grape"}
B ={"apple","banana","grape","kiwi"}

ifA==B:

print("A2t B&= &&= LICE")
else :

print("A%t B 2 Xl &&LICEH")
A%t B= & X 2&LICH
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A = {"apple", "banana", "grape"}
B = {"apple", "banana", "kiwi"}

C=A|B # L= C = A.union(B)
print(C)

{'banana’, 'grape’, ‘apple’, 'kiwi'}

I1app'|_el1

"banana”
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A = {"apple", "banana", "grape"}
B = {"apple", "banana", "kiwi"}

C=A&B # L = C = A.intersection(B)
print(C)

{'banana’, '‘apple'}

"apple”

f "grape”

"banana”
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A = {"apple", "banana", "grape"}

B = {"apple", "banana", "kiwi"}

C=A-B
print(C)

# L = C = A.difference(B)

{'grape’}




2|AE <-> ME

>>> list1 =[1,2,3,4,5,1,2,4 ]
>>> |len(set(list1)) \
S

>>> list1 =[1,2,3,4,5]
>>> |ist2 =[3,4,5,6,7 ]
>>> set(list1)&set(list2)
{3, 4, 5}
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set() 2l HE MM
set(seq) ABANM 248 HUM MEE BHEC
s1.=:461; e2; ed; w.d Z7[30| Sl= ME= E85E el
len(s1) HEO| Y= 240 4
e in sl e?l JE 20| =X G
add(e) eE MEO| F7[8H.
TERVELE) oF MEOIM ARSI
discard(e)
clear() MES| BE QAE AH|BIH
s1.issubset(s2) & EERIXIE HAFSICE
L Sus HseIXE A,
51 1= 52
sl.union(s2) srxjgt
51 | s2
sl.intersection(s2) -
sl & s2 g
sl.difference(s2) et
51 - 52




]

]

KO

oll

i

2. NEO N&

3. NE A% ME B2 1




Lab: TfEFSr B8 HAr Zelsj
LLL 2 O o

Sh=FH 2)12 2AME= 20tA & SAE 0| S0HLE T AFSHA]

Z4ole Z20d s Aol 2 AL

=

= B =2 Xt Z:Alice was beginning to get very tired of sitting by her sister on the bank,
and of having nothing to do

=

& B = AHE:Kim was beginning to get very tired of sitting by her sister on the bank,
and of having nothing to do

85.71428571428571

11 =
HAEE




Solution:

s1=input("= S = Xt
s2=input("Ss SN = At

12 N2

s1 = s1.lower() # o ANEES A2 BtE= HAE
s2 = s2.lower()

list1 = s1.split(" ") # =2AES HHZE 2ot HaAE
list2 = s2.split(" ")

total = len(list1) # e =
n = len(list(set(list1)&set(list2)))

print(f\n2 & & = {100*n/total}")




Lab: Zx&l™ °f° =r°1°| e M

Ss=EHA ®22 202 I Al

2= el AE: | have a dream that one day every valley shall be exalted and every hill and
mountain shall be made low

ME= S0 D=
{"be", "and", "shall", "Iow" "have", "made", "one", "exalted", "every", "mountain”,
|Ithat" "Va”ey" |lh|||" |lday|l |l " |ldreamll}




& Solution:

txt = input("& 2 HAE:")
words = txt.split(" ")
unique = set(words)# & &2 2 GF

uin

A=

print"AtE = &0 2] J===", len(unique))
print(unique)
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« Y AU Zcl(dictionary) gt= M&ot= A2 0[CH ob A8 S M U

210l = 2t(value)Df 221l Il(key)= X = EIC}.

Korea » Seoul
SPEIE ] USA »| Washington
UK »| London

7 (key) ZHvalue)
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yntax: S MU \ 24| gajlielE ANEi

Syntax dAUZI_0IE = { 211:3H1, 2I2:k2, 2I3:3L3, ... }

capitals = { } 2t
/_
capitals = { “Korea™ “Seoul” , "USA”: "Washington", "UK": "London” } # @

il —

S A

| “Korea” (—u “ Seoul” ‘

I'.I _| “USA” |———-| “ Washington “

I
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>>> capitals ={"Korea":"Seoul","USA":"Washington","UK":"London"}
>>> print( capitals["Korea"])

Seoul

>>> print( capitals[“France”] )

KeyError: "France"

>>> print( capitals.get("France", "ol & J1Jt 4SS LICE"))

ol & 21 &lsLILh.

L2 )0l LFE SHEX &
ot Ol A ol OF &I




if "France" in capitals :
print( " AU 20l &=

gon

2")
else:
print( "SI0l 2T X Z2")

SAUCIO 2 X ES
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capitals ={}
capitals["Korea"]="Seoul"
capitals["USA"]="Washington"
capitals["UK"]="London"
capitals["France"]="Paris"
print(capitals)

{'Korea': 'Seoul', 'USA': 'Washington', 'UK": 'London’, 'France': 'Paris'}

Z| (key) wr(values)

"Korea" —>»  "Seoul” S0 =718 o=

capitals | & N —— E— [] SHAIRIE ABSHIR.
USA™ ——» "Washington

"UK* |—— “London"

"France" 3 “Baris’




U Afﬂ"br1|

/_ Oror Z=0{ & I I 8
— KeyError il 2| Ot & 28 5HCk
city = capitals.pop("UK")
7| (key) af(values) 7| (key) af(values)
"Korea" ——  "Seoul” "Korea" ——  "Seoul"
capitals capitals | o \
"USA" |—> "Washington" "USA" +—> "Washington”
"UK" —h— TILUndnnll

if "UK" in capitals :
capitals.pop("UK")




capitals ={"Korea":"Seoul","USA":"Washington","UK":"London"}
for key in capitals :
print( key,":", capitals[key])

Korea : Seoul
USA : Washington
UK : London

capitals ={"Korea":"Seoul","USA":"Washington","UK":"London"}
for key, value in capitals.items():

print( key,":", value )

Korea : Seoul
USA : Washington
UK : London
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capitals ={"Korea":"Seoul","USA":"Washington","UK":"London"}
print( capitals.keys())
print( capitals.values())

dict_keys(['Korea', 'USA', 'UK")
dict_values(['Seoul', "Washington', 'London'])

for key in sorted( capitals.keys()):

print(key, end="")

Korea UK USA
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{ x : x*¥¢2 for x in values if x%2==0 }

values =[1,2,3,4,5,6]

dic ={ x : x**2 for x in values if x%2==0 }
print(dic)

{2: 4, 4: 16, 6: 36)




':_II"1'-1EI o |[A]=

s 28
d = dict() S SMH2|E ddBic)
d={ky:vykyivy, ....Ryi0,} =7 [gteg g M4elE ddBict,
len(d) HAadelo xgd 2=9 B bl
k in d k7t HAiH2] d Qtol| Q=X HFE BBl
k not in d k7t 5 MH2] d 2lol| Blet TrueE BHatich

d[key] = value

SAdzlol 7|2t 2ls MR,

v = d[key]

SMHEIIAM keyOl| SIS == 2tS HHafEiC

d.get(key, default)

0%l 718 7K S Rt ek Glo™ default 210 HiekECE

d.pop(key) S22 AlFiBtct
d.values() SAE] o] ZE Zfo| AJHAE HIISITE
d.keys() HMUg| ool BE F[9 A|BEAE HHatfirt,

d.items()

SMUe| oo 2E (7] S Bl
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Solution:

english_dict ={} # S ENHUHCIE MHEHC

Ct.

o

english_dict["one"]="G} LI" # AU EHE 2I01E FOt

english_dict["two"|="=
english_dict["three"]="4!"

word =input("tHtH E LS 0tAIL2: ");
print (english_dict[word])




Lab: A MM AME|
70 0

score_dic= {
"Kim":[99,83,95],
"Lee":[68,45,78],
"Choi":[25,56,69]

}

Kim 2| & ¢ &X=92.33333333333333
Lee 2| B4 &= 63.666666666666664
Choi 2| & &=50.0




Solution:

score_dic= {
"Kim":[99,83,95],
"Lee":[68,45,78],
"Choi":[25,56,69]

}

for name, scores in score_dic.items():
print(name,"2| B # & X="sum(scores)/len(scores))
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